
1713

16

41

34

10

20

40

232536 29

33

31

37

12

28

38

38

11

32

39

24

21

35

18

27

8

7

15

14

4

1

5

30

31

9

42 43 44

19

2

3

26

35

Snappi Seat All models
Parts List

Subject to technical alterations

Tendercare Ltd. PO BOX 3091 Littlehampton BN16 2WF England
Tel: +44 (0)1903 726161 --- Fax: + 44 (0)1903 734083 --- Email: Info@tendercareltd.com Date: 06 / 2016



Item Number Part Number Description Qty Per Seat

1 053rkf311.1 /  053rkf321.1 Hip Guide Plate Size 1 /  Hip Guide Plate Size 2 2

2 053rkf315L /  053rkf325L Hip Guide Bracket Left Hand Size 1 /  Hip Guide Bracket Left Hand Size 2 1

3 053rkf315R /  053rkf325R Hip Guide Bracket Right Hand Size 1 /  Hip Guide Bracket Right Hand Size 2 1

4 053rkf318.8 /  053rkf328.8 Side Padding Plate Size 1 /  Side Padding Plate Size 2 2

5 SN684082 Standard Gas Spring 1

6 SN7403 Dynamic Gas Spring (option: replaces standard gas spring) 1

7 SN5557TA Gas Spring Head 1

8 SN012483 Gas Spring Locknut 1

9 SN1041BN Gas Spring Release Lever 1

10 053rkf311.5 Gas Spring Spacer 4

11 053rkf311.6 Back Hinge Spacer 2

12 053rkf311.10 Special Seat Cup Washer 6

13 SN412250 Seat Back Special Washer 2

14 SN412080 5mm Nylon Spacer 2

15 SN412200 Hip Guide Special Washer 4

16 SN73130 M8 x 30 Female Threaded Hand Wheel 4

17 SN73140 M8 x 40 Female Threaded Hand Wheel 2

18 SN6850 /  B89090 16mm Angle Adjustor /  Button for 16mm Angle Adjustor 2

19 053rkf311.2 /  053rkf321.2 Footrest Stem Size 1 /  Footrest Stem Size 2 2

20 TSS9036 25mm Cam Buckle 6

21 SN7420 Interface Spring Right Handed 1

22 SN7410 Interface Spring Left Handed 1

23 SN8317 Interface Saftey Catch 1

24 SN5370 Interface Nylon Washer 4

25 SN8326 M6 x 20 Ball Knob 1

26 SN 6075 19mm plastic end cap 2

27 RVT010004809 Fixings: 4.8 x 9 aluminium pop rivet 4

28 RVT010004816 Fixings: 4.8 x16 aluminium pop rivet 8

29 NNYMT05 Fixings: M5 Type T Nylock Nut 4

30 SKTMB05X16Z Fixings: M5 x 16 hex socket screw 2

31 SKTMB05X35Z Fixings: M5 x 35 hex socket screw 4

32 VIS0715-06X12 Fixings: M6 x 12 countersunk screw 4

33 NNYMP08 Fixings: M8 Type P Nylock Nut 8

34 WAMC08Z Fixings: M8 x 1.6 steel washer 11

35 SKTMB08X16Z Fixings: M8 x 16 hex socket screw 6

36 SKTMB08X20Z Fixings: M8 x 20 hex socket screw 2

37 SKTMCSK08X025Z Fixings: M8 x 25 Countersunk Screw 6

38 CSHM08X025Z Fixings: M8 x 25 Coach bolt 6

39 SKTMB08X30Z Fixings: M8 x 30 hex socket screw 4

40 SKTMB08X40Z Fixings: M8 x 40 hex socket screw 2

41 SKTMB08X50Z Fixings: M8 x 50 hex socket screw 2

42 Size 1: SN6035 /  Size 2: SN6135 Footrest Moulding (Only) Size 1 /  Size 2 1

43 Size 1: SN6032 /  Size 2: SN6132 Footrest Complete Including Adjustors #16, Stems #17, Plate and Moulding Size 1 /  Size 2 #40 1

44 Size 1: SN6030 /  Size 2: SN6130 Footrest Complete (excluding adjustors and stems) Size 1 /  Size 2 1

45 SN9100 Snappi Cover Set Complete - Size 1 Including Back Cover #45, Seat Cover #47, Side Wings #49 and Hip Sides #51 1

46 SN9200 Snappi Cover Set Complete - Size 2 Including Back Cover #46, Seat Cover #48, Side Wings #50 and Hip Sides #52 1

47 SN9102 Snappi Back Cover Only - Size 1 1

48 SN9202 Snappi Back Cover Only - Size 2 1

49 SN9104 Snappi Seat Cover Only - Size 1 1

50 SN9204 Snappi Seat Cover Only - Size 2 1

51 SN9106 Snappi Side Wing Covers (Pair) - Size 1 1

52 SN9206 Snappi Side Wing Covers (Pair) - Size 2 1

53 SN9108 Snappi Hip Side Covers (Pair) - Size 1 1

54 SN9208 Snappi Hip Side Covers (Pair) - Size 2 1

Subject to technical alterations

Tendercare Ltd. PO BOX 3091 Littlehampton BN16 2WF England
Tel: +44 (0)1903 726161 --- Fax: + 44 (0)1903 734083 --- Email: Info@tendercareltd.com

Snappi Seat All models
Parts List

Date: 06 / 2016


